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10. What is the product of the largest | 10. 50 vA P93 K 4% 8 3 92 5% )~ 49 A
prime number and the smallest ZtERS ) ?
composite number within 507
A. 94 A. 94
B. 98 B. 98
C. 188 C. 188
D. 196 D. 196
11. A school will hold a graduation | 11. $&# B4TE F k¥ » £F 600 m
ceremony, and 600 m of ribbon are F oG M LR FRENREE
needed to wrap the gifts. How many Moo TR ORI ALY ?
packs of ribbon should the school buy
in order to have enough ribbon?
Number of Length of
packs each pack B3 HhuwvkE
A. 31 19 m A. 31 19 m
B. 45 12 m B. 45 12 m
C. 16 37 m C. 16 37 m
D. 23 27 m D. 23 27 m
12. Which of the following numbers has | 12. F 7%} BHRAIFAH 4 8 F # ?

exactly 4 factors?

A. 21
B. 25
C. 28
D. 36

A. 21
B. 25
C. 28
D. 36
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SECTION B (40 marks) &R (40 %)

Working steps must be shown in PR AE R 35 BA S 0 R X RER P A B
answering questions in this section ATt AV R o

unless specified otherwise.

31. The rental fee of a badminton courtis | 31. £ EHKIB WK T FHET !

as follows:

Rental Fee of the Badminton Court
N B G AL

First hour $35

%

Every half an hour thereafter

VAR H ) B

(Half-hourly rate is charged for renting time less than $22

half an hour)

(RRF DA A

Stella rented the badminton court at R EAE T7:40 am. B4 4 ) £33k

7:40 a.m. She left at 11:10 a.m. on the 3 AZERFH 11:10 am. &8 o

same day.

(a) How much rental fee should be (a) XAaMmAE S ) ?
paid? [4 5]

[4 marks]

(b) Stella invited four friends to play (b) REZBFT 442 MA —#ITH
badminton together. How much Bk FHEAAMLS VA
rental fee should each one pay on A2 (RAZHAEE)
average? (Give the answer only) [2 2]

[2 marks]
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